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Warm-ups {1 pt each) Tx8 = §& = p:&&f-; v’-‘fl ~7°

= |

Television is something the Russians
inverted (o destroy American edicalion.

-_—N

1.) (5 pts) Suppose a computer manufacturer has the total cost function € (x)=85x+3300 and

the total revenue function R{x)=385x.

a. What is the equation of the profit function for this commodity?
Pbﬂs = }-?.Cx\ - LCM}
= 3g6x ~ (85X + 3d00)

= 300X ~ 1120
b. What is the profit on 351 items?

PC%E!\: | &2 bee

¢. How many items must be sold to avoid losing money?

So)ue, PC XB z o

. 5\
-__;..} C:" - _;Dp x- “i},aa )/ J’f\“gl"l.&'.

s 3o =exX = X =]
d. What is the marginal profit?

——

pPF = 300,

e. {Interpret the marpinal profit.
meﬂ: ;t-’c.-re:aj;{, ﬁ’gb‘:’ fror =ach

mﬁbcl)l\t??“‘ﬂﬂ], uyﬁr sold
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2.) (4 pts) Suppose that the total cost function for a stereo is linear, that ﬂn.: n‘nargix\m] cpsﬂ' is $27
and that the total cost for 50 stereos is $4250. Write the equation of this cost function.

e S;;K-ﬂ-d) Iy A m B
f/g_’\-r )L_‘),("—‘l-l:l
[ F [ == h o * ¥

‘Cﬂ'ﬁ'ﬂ
Cles) = 4250 = 23X+l

S Yaso - 2He\T
= Y= a0
z0xY) = 23} x + 2400

3.} (4 pts) If the supply function for a commodity iss,"o =g* + 8¢+ 20 and the demand function is
D! p=100—4g—g°, find the equilibrium quantity and equilibrium price.

A%y §q4 20 = oo —"97‘“‘}1
D 297y )1y —~Fo =2 > g4 - P;‘}L4§-'7’-ch>?ééé:
D g> 4 bg -0 =0 viee = Pbe
3 (é),*“”ﬂ“’lfq\‘“? r

ety >
= ﬁ,éf\c oK, cj;_u/

4,) (4 pts) If the total costs are C(x)=1600+1500x and total revenues are R{x)=1600x—x",
{ind the break-even points.

o=
2 lbeopjgwex = Jboox ~ X
5 Y& _ Joox +lbso =D
S (X — g2)(X-22)= O
=S X= g2 A X=2°,

oy L A wher 9o on %
7 | lnadt M#ELL/E‘"}A.
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5.) (4 pts) I, in a monopoly market, the demand for a product is p = 1600—x and the revenue 1$
R = p-x, where x is the number of units sold, what price will maximize revenue?

?\: P X
= Q-é,m—x)-x

prax (& X = Eo°
MJ/PV"‘;H&E- ﬁg&a.

6.) (4 pts) The profit function for a firm making widgets is P(x)=88x—x* ~1200. Find the
number of ynits at which maximum profit is achieved, and find the maximun profit,

2
My P(.X) = X 3 BEXY - hee

e rtex C*_?_d)e: 1?(#){:‘\%

b %%
'X*—.L“--;E:‘S-qlf

P(LM) =4 A4

M ax Pmﬁ%— >4 3336 ohew
gy optx  are MJ&Z’@E«
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- 7y 2 pts) Find the infinite sum, S, , of this geomeiric sequence: 81,27,9,35, ...

——— ——

e = | j/-] = :e.jj = N

|

8.) (2 pts) Find the twenty-fourth term, a,, ., and the sum, S,,, of the first 24 terms of the
following arithmetic sequence: 3,7, 11, 15,19, ...

QW: 3+ "7‘(.*"""5 )p:)ﬂ‘{

= 3 (23

=29
24
= )b

9.) (2 pts) Write an expression for the sum, §,,,, of the first two hundred forty terms ol the
geometric sequence: 2, 8, 32, 128, ...

2(1- 9™

Sogp F e

) -
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